



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{5}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{1}{5} =$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{6} =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{1}{3} =$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{3}{5} =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^2 + \frac{3}{5} = \frac{113}{180}$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{2}{5} = \frac{107}{45} = 2\frac{17}{45}$$

$$\left(\frac{1}{5}\right)^2 - \left(-\frac{3}{5}\right) = \frac{16}{25}$$

$$\left(\frac{1}{4}\right)^2 - \frac{3}{5} = \left(-\frac{43}{80}\right)$$

$$\left(\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{6}\right) = \frac{23}{6} = 3\frac{5}{6}$$

$$\left(\frac{1}{5}\right)^0 - \left(-\frac{2}{5}\right) = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{6} = \frac{19}{48}$$

$$\left(\frac{1}{5}\right)^{(-2)} + \frac{1}{5} = \frac{126}{5} = 25\frac{1}{5}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{2} = \left(-\frac{7}{16}\right)$$

$$\left(\frac{1}{2}\right)^{(-1)} + \frac{1}{2} = \frac{5}{2} = 2\frac{1}{2}$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{1}{2} = 2$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \left(-\frac{1}{2}\right) = \left(-\frac{5}{2}\right) = \left(-2\frac{1}{2}\right)$$

$$\left(-\frac{1}{2}\right)^{(-2)} - \left(-\frac{3}{4}\right) = \frac{19}{4} = 4\frac{3}{4}$$

$$\left(\frac{2}{5}\right)^{(-2)} - \frac{1}{5} = \frac{121}{20} = 6\frac{1}{20}$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{6} = \left(-\frac{1}{150}\right)$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{1}{3} = \frac{47}{3} = 15\frac{2}{3}$$

$$\left(\frac{1}{5}\right)^{(-2)} - \left(-\frac{1}{2}\right) = \frac{51}{2} = 25\frac{1}{2}$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{2} = \frac{59}{18} = 3\frac{5}{18}$$

$$\left(\frac{3}{5}\right)^2 - \frac{3}{5} = \left(-\frac{6}{25}\right)$$